= o
A & 0l & AF 2 E A A
A= OlHdEEHE M 0lHEZE
M A" 016IF I
S DicHHl A Dl=2te| (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OlcH&a&=H & 49,906,320 9,959, 860 39,946,460
= 29,835,000
s 1,200,000
J| 2,087,500
< 3,126,250
Al 13,657,570
OlcH& &t 3,469,996 922,400 2,547,596
J| 1,087,500
< 326,250
Al 2,056,246
ANE Olchidl ™ I & 171,200 0 171,200
Olchbl & D& &2 171,200 0 171,200
OlciBl&OI& 29 21,200 0 21,200
201 Let24E] 5,000 0 5,000
01 At 22l 5,000 0 5,000
OJlglad 2238 2 2,000,000& = 14 2,000
OAMZ=A TtZ 14 3,000,000 * 14 3,000
202 o4dl 7,000 0 7,000
01 = LH 4 Hi 7,000 0 7,000
OJI& g2 ot 20,000& = 5% * 702 7,000
203 YR =&t 9,200 0 9,200
03 Al =X YR =& 9,200 0 9,200
ODleHe & AMMFZ(HE) 6,000,000& = 14 6,000
Oflch &g & AIMF=& 3,200,000 * 14! 3,200
OlcHHId Mgt =& 150,000 0 150,000
207 O] 150,000 0 150,000
01 289 150,000 0 150,000
OZEA Dl A MEHAY 2= E2S
150,000,000& * 14! 150,000
HdENEECAZY 2,191,200 100,000 2,091,200
J| 1,037,500
=) 311,250
Al 842,450
242 HEZAIZH 2,191,200 100,000 2,091,200
J| 1,037,500
=) 311,250
Al 842,450
25 22 Yol 24 ¥ MBI AH(Z2ZAHAE A 300,000 0 300,000
J| 150,000
< 45,000
Al 105,000
201 £B-2dH| 3,000 0 3,000
J| 1,500




A= OlHdEEHE M 0l Z
HFH: BIEHEZANZH
©e 2FNEZAZY (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES e HlDE2
< 450
Al 1,050
01 At 22l 3,000 3,000
OXgH TIAY AM4T
3,000,000 =+ 14l 3,000
J| 1,500
< 450
Al 1,050
207 O] 297,000 297,000
J| 148,500
< 44,550
Al 103,950
01 289 297,000 297,000
OZE 2240 24 & A=A
97,000,000 * 14l 297,000
J| 148,500
< 44,550
Al 103,950
NE 2= (OM0)SE NIAMG(SHATNA) 100,000 100,000
308 XX EHH SOl 100,000 100,000
113/ 2SoHUHSZAEEALS I 100,000 100,000
OXNABBEITR XA
100,000,000& * 14 100,000
2BANECA SEAY 2L (2FHEZA) 16,200 16,200
201 £B-2dH| 10,200 10,200
01 At 22l 10,200 10,200
OHBEZA XN29ds &
70,0003 = 159 = 43| 4,200
OBAHNEEZA =& 23]
1,000,000 * 14 1,000
ONEAMNY dog Itz & E2E MH
5,000,000& = 14 5,000
202 04 tl 6,000 6,000
01 = LH 4 Hi 6,000 6,000
OZFNFEHER Oyl
20,000& = 3 = 1002l 6,000
2E AEIZZAYH SE(ZEAHETA) 300,000 300,000
J| 150,000
< 45,000
Al 105,000
201 Let24dy] 100,000 100,000
J| 50,000
= 15,000
Al 35,000
01 At 22/l 100,000 100,000




A= OlHdEEHE M 0l Z
HFH: BIEHEZANZH
©e 2FNEZAZY (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OZE AEBIZHZAIEH Aol T2
2 100,000,000& * 14! 100,000
J| 50,000
< 15,000
Al 35,000
307 glz2tol & 200,000 0 200,000
J| 100,000
< 30,000
Al 70,000
02 It M AHEE 200,000 0 200,000
OLE AEIZZAILH S2AY
200,000,000& * 100% 200,000
J| 100,000
< 30,000
Al 70,000
ZHEHHEA L A Ak S (ZZEHEZA) 475,000 0 475,000
J| 237,500
< 71,250
Al 166,250
308 AHXIEHHSOIA 475,000 0 475,000
J| 237,500
< 71,250
Al 166,250
113/ 2S0HUHSZ&EEALS I 475,000 0 475,000
OXI 2 EF T (DM0) T4 XA
475,000,000& = 100% 475,000
J| 237,500
= 71,250
Al 166,250
ZEANECA AZAZ HHAS(RZAHAEZY) 500,000 0 500,000
J| 250,000
< 75,000
Al 175,000
308 AHAIEHHSOIA 500,000 0 500,000
J| 250,000
< 75,000
Al 175,000
113/ 2SoHUHSZ&EEALS I 500,000 0 500,000
OUFAZ &0l et =22 AXE & A
e 500,000,000& * 100% 500,000
J| 250,000
< 75,000
Al 175,000
2BANECA 2 2YE OHAE (ZFEHEZA) 500,000 0 500,000
J| 250,000
< 75,000
Al 175,000
308 A EHHSOIA 500,000 0 500,000




A= OlHdEEHE M 0l Z
M BPNFCAEY
©e 2FNEZAZY (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
Jl 250,000
< 75,000
Al 175,000
N 3JN2SHUe3&EAE A 500,000 0 500,000
OZNBEAN 22 OHHE
500,000,000& * 100% 500,000
J| 250,000
< 75,000
Al 175,000
S NA IS (0IAHLE) 837,300 822,400 14,900
J| 50,000
< 15,000
Al 772,300
23T Al 2HSI(0lHEF) 837,300 822,400 14,900
J| 50,000
< 15,000
Al 772,300
oA 222 587,300 820,400 A 233,100
201 ¢4l 28,800 318,320 A 289,520
01 At 22/l 28,800 28,320 480
OSSHEAZTRAAS HFH+T
70,000& = 15% = 128 12,600
OS2 AFAAAS 24l
100,000& * 12& 1,200
O2TAl 2 s ¢ =2
5,000,000& = 23l 10,000
OsEs & U8 MH 5,000,000 =+ 14l 5,000
202 044l 4,000 2,080 1,920
01 = LH o4 1l 4,000 2,080 1,920
O ANEZLEYR Kl
20,000& = 2% = 1003/ 4,000
301 LEEAS 4,500 0 4,500
09 HALAMHIXI &3 4,500 0 4,500
OS2 AFIAAS S0
100,000& * 159 = 33 4,500
308 XXM SO0 A 500,000 500,000 0
113/ 2SHUHSZHEEALS I 500,000 500,000 0
O2T Al =AY IS AL
500,000,000& * 100% 500,000
401 Al HIZ 201 Y] 50,000 0 50,000
01 A& HI 50,000 0 50,000
O2EA HESHS LAY
50,000,000& * 14l 50,000
ESt2Z UM (2ZHEZA) 100,000 0 100,000
J| 50,000




HEF = A Olehe 3
BN IS E(0IHLE)
BT Al S| (DIHE ) (e dd)

= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
< 15,000
Al 35,000
307 glz2tol & 100,000 0 100,000
J| 50,000
< 15,000
Al 35,000
02 IZtE M AHE X 100,000 0 100,000
OTEHHEIE /s =& 222X =M=
100,000,000& * 100% 100,000
J| 50,000
< 15,000
Al 35,000
FoEA =4 HA2IE 150,000 0 150,000
201 LB-2d| 150,000 0 150,000
03 A2 Z Hl 150,000 0 150,000
O23 Al OFEHAEIY 100,000,000& * 14 100,000
O&FEAE ACI0O0IEIE S 2
50,000,000& * 14l 50,000
CIRQl J1& 2el 221,688 0 221,688
SSCIRR Jjgr =gl 221,688 0 221,688
S3CIAe 2F 22 119,288 0 119,288
101 14 Hl 42,288 0 42,288
02 JIEH & 2+ 42,288 0 42,288
O33CIXtel QIZEM 2O E=
3,524,000& » 1H 128 42,288
201 £B-2d| 53,000 0 53,000
01 At 22l 53,000 0 53,000
OZ230xe FH2AE At 22l
6,000,000& = 14 6,000
OZTUNANEARS 4
70,000& = 50H « 123 42,000
OZ23UXe FHEE MI L2t
5,000,000& = 14 5,000
301 getEd 3 24,000 0 24,000
09 SALAHIX A S 24,000 0 24,000
O30T Es AW
100,000& = 30H = 83l 24,000
S3CA HMFA 100,000 0 100,000
207 A RO H| 100,000 0 100,000
01 g8 100,000 0 100,000
OLEAN S3LIXe ENHE 22
100,000,000& * 14 100,000
=30 283l 2,400 0 2,400




g E=HE 2 M
P ESUA JE2te
D S3UX Jlgt =

2.9A BB S (BH) - HBAY - B il HZS2
202 (4] 2,400
01 2L Y] 2,400
O220X2AHE2 o4Hl 20,0008 * 2H = 603
HHSHAU (DlHLE &) 48,608
=&t 48,608
JlE23Hl 48,608
201 et A bl 19,008
01 AP 22l Yl 19,008
Oget+=gH|
ocHHMPEES 7L 200,000&
o AIRD|I| 228 2¢ 500,000
oHNERAFE 18,000& * 88
oARE Y| 100,000&
OZ &l
oolEeiead A
8,000 * 169 = 5
202 04| 12,000
01 2LH O HI 12,000
OJI2gd2=8 oYl 75,000& * 16Y 1
203 ¥R =&H| 8,600
01 J|22HLR=AH| 5,000
OJ|22dEgR =&Y 5,000,000& =* 1
04 ENSI LR 3,600
ORN2gI2F&Y| 300,000& « 12&
405 X+H&HF SHI 9,000
01 A&t = S F SHI 9,000
O8&) #¢ 6,000,000& * 1CH
okLEes®E ¢ 2,000,000& * 1CH
OSMMED 2 1,000,000& = 1CH




N = 0l & At & M A

=: 0l & =H|C 2A  EFOL
M MES239 Hel =4
A BE22 Hel =4 (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
OH e 6,014,496 9,037,460 N 3,022,964
= 1,200,000
Jl 1,000,000
= 840,000
Al 2,974,496
ME232 Hel =4 100,000 500,000 A 400,000
HNES3 Hel =4 100,000 500,000 A 400,000
HEE32 Hel ZAAY 100,000 500,000 A 400,000
401 Al HI L £ 0HHI 100,000 500,000 A 400,000
01 Al& H| 100,000 500,000 A 400,000
ONEI3 Hel 24 A Y
100,000,000 * 14! 100,000
NEo UM Ak 5,666,100 7,385,600 A 1,719,500
g 1,200,000
J| 1,000,000
& 840,000
Al 2,626,100
NS 28 L ALS 1,011,100 1,580,600 A 569,500
SELER FAAY 29 AH| 90, 100 68,000 22,100
201 LBt 9H]| 74,100 50,000 24,100
01 AP 22| d| 74,100 50,000 24,100
OSYE HEXNSE =2 30,000,000 = 14! 30,000
OSPZXRY E2SE 2 L MR
10,000,000 = 14! 10,000
O0IAZ2AEYAY SARINEESLES 34,100
o NE72R ZANRKITESLSE
45,100,000,000& * 0.05% 22,550
cWE2ZR ZANRINLELLE
23,100,000,000& = 0.05% 11,550
202 o4 H| 14,000 16,000 A 2,000
01 2L HI 14,000 16,000 A 2,000
OSFMLAYE =& 20,000& = 6¥H x 1003 12,000
ORABASYAMY =X
20,000 x 2% x 503 2,000
203 € R =& 2,000 2,000 0
03 AIEH =X A2 F XY 2,000 2,000 0
OEINY g2=xX 2,000,000& = 1A 2,000
NEAH HCEUCT ASAIY 700,000 0 700,000
308 AMXISHMSOIA 700,000 0 700,000
07 MHXSHH2AESZ 700,000 0 700,000
OXSEAHH HUCT ASAY AlH 2=
700,000,000 = {14l 700,000




=: DicHdE=H SN SAHE D
P

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
HENENEZAIEY 5,000 1,500,000 A 1,495,000
201 £B-2d| 5,000 0 5,000
01 At 22l 5,000 0 5,000
OJENZEX =t&s &0
5,000,000& = 14 5,000
HCOH oz MY 2,000 4,000 A 2,000
202 (4 Hl 2,000 4,000 A 2,000
01 = LH 4 di 2,000 4,000 A 2,000
OB ol Z MY =&
20,000 = 2% = 503 2,000
ANAZ@Eig 2434l 4,000 8,600 A 4,600
201 Let2d] 2,000 2,000 0
01 At 22l 2,000 2,000 0
OXNAZE LAY =& 2,000,000& = 14 2,000
202 Odl 2,000 6,600 A 4,600
01 = LH 4 Hi 2,000 6,600 A 4,600
OXNGZEIMLAY =2
20,0004 = 2H « 503l 2,000
SHERH(ZE~ME) AAMAMNL 50,000 0 50,000
308 MtXIEHMSOIH 50,000 0 50,000
07 HIXNHHARE = 50,000 0 50,000
OFHAMNE J=e24EH
50,000,000 = 14l 50,000
soied D=3 Jl=de =8 80,000 0 80,000
207 RO 80,000 0 80,000
01 A3 39| 80,000 0 80,000
Osold =38 Jl=ds =8
80,000,000 = 14l 80,000
MY 2= Mg 80,000 0 80,000
207 ROl 80,000 0 80,000
01 289 80,000 0 80,000
Odlaty &= M ==& 80,000,000& » 14 80,000
ZEFYR TAFH 300,000 805,000 A 505,000
SJt2 HOtHel =4 300,000 305,000 A5,000
401 AIEHI L 2 CHYI 300,000 305,000 A5,000
01 A& HI 300,000 300,000 0
O=Jt2 HOtAHel =4  300,000,000& * 14 300,000
2ds Y2 =SEHH AE 4,355,000 5,000,000 A 645,000
s 1,200,000




- _ _ RE]
2.2 FHB B EH) - NEAY - BES %Eﬁ HR=2
Pl 1,000,000
& 840,000
Al 1,315,000
22X HYISI=ESHEH HE (2HSHH) 1,840,000 3,000,000 A 1,160,000
J| 1,000,000
Al 840,000
401 AlEHIZL 2 0HY| 1,840,000 3,000,000 A 1,160,000
J| 1,000,000
Al 840,000
01 Al&H| 1,840,000 2,940,000 A 1,100,000
O=2xds dY2sI=2adE HE (2CHESHEH)
1,840,000,000& = 14! 1,840,000
J| 1,000,000
Al 840,000
22X HY 22 HY HE (Z=EHX =XHE) 2,515,000 2,000,000 515,000
Fag 1,200,000
= 840,000
Al 475,000
401 AlEHIZL 2 0HY| 2,515,000 2,000,000 515,000
= 1,200,000
o= 840,000
Al 475,000
01 A&l 2,515,000 1,955,000 560,000
OSHES HFLSH2SME AY(FAHX =T
) 2,515,000,000& = 14! 2,515,000
Fag 1,200,000
& 840,000
Al 475,000
HESHAY (EPRHL D) 39,996 41,860 AN 1,864
JlE&ddl 39,996 41,860 N 1,864
Jl2&Hl 39,996 41,860 N 1,864
201 et 22,996 23,900 A 904
01 AR 22l ] 22,996 23,900 A 904
Ogttf=2y| 14,276
oMM A2 E EH| 500,000 = 73| 3,500
O ARD|D] ARE R 500,000& ~ 12€ 6,000
ohlERES 18,000 » 6= * 12& 1,296
oA £HH| 200,000& = 123 2,400
o2 TN P 30,0008 * 123 360
oXdLD| &e =22 60,0008 = 12&€ 720
O=3&H| 6,720
cl)2gR =8 ZAlH|
8,000& » 7 x 10¥ = 128 6,720
OJIEtx=2Hl 2,000,000& = 1A 2,000
202 044 12,000 12,960 A 960




: 0l

M ox
40 5 4

. SH
ES

N F = SHSTHY

H2gZu(S2He)

: =2 CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

01 = LH 4 bl 12,000 12,960 A 960

O=LHolHl 2,000
oJl=g:® =& (Ol

100,000& * 10 = 123l 12,000

203 YR =2l 3,000 3,000 0

04 EASIYRFLH 3,000 3,000 0
ORN2EYE=AHI 250,000& = 123 3,000

405 KtobH S| 2,000 2,000 0

01 AL ESFH S 2,000 2,000 0
OLE=SR 7Y 2,000,000& =« 1CH 2,000

HeEs(E7MLH) 208,400 0 208,400

HEHHXZ 208,400 0 208,400

LHEHH X = 208,400 0 208,400

701 JIEtSI HSHES 208,400 0 208,400

01 JIEtel HE == 208,400 0 208,400

OZFIINEBHZAMAHANELEELSEIH HES

208,400,000 * 14 208,400




N = 0l & At & M A

=: DicHdE=H FM o ZHUEFEL
M XN REMA 2=
?: Nsd nEMH =8 (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
HICHal =& ot 40,421,828 0 40,421,828
2 29,835,000
< 1,960,000
Al 8,626,828
AN RSHA 2= 39,033,040 0 39,033,040
= 29,835,000
< 1,960,000
Al 7,238,040
ANsg nsHAH =8 39,033,040 0 39,033,040
2 29,835,000
< 1,960,000
Al 7,238,040
ITS 3 B 398,040 398,040
201 et 245,000 245,000
01 At 22l 80,000 80,000
o222 M MA 10,0003 * 1,0008 » 22/ 20,000
OPT M & 5,000,000& = 23| 10,000
os2sgy =34 5,000,000& =+ 14! 5,000
OITS &3 sl 1,500,000 = 30 45,000
03 &Ar2 I 165,000 165,000
OITS 28H X =& MOILE 20,000,000& * 14 20,000
OITS AP AR = S XIAAM S
20,000,000& = 14 20,000
OITS &3 A2 30,000,000& = 14 30,000
O=H&A RX X& 15,000,000& * 14 15,000
OITS MASS SXIH HHEHES
20,000,000& = 14 20,000
OAAMINX =& BEN 30,000,000& = 14 30,000
O=& A2t =& MOt
30,000,000& * 14 30,000
202 O4dl 121,040 121,040
01 20 b 5,040 5,040
OITS HIAES A= FISY(HNS HS
) 70,0003 = 3Y * 128 = 23| 5,040
03 =220l 116,000 116,000
OITS MAZES SXI =& 116,000
oS F |TS AP B3l &4 3,000,000 * 12 36,000
o OtAIOF ITS 2E A &It
2,000,000& = 4H « 43| 32,000
o=d |TS MAISE &It
4,000,000& = 129H 48,000
203 &R = [ Y| 2,000 2,000
03 AIHF=XH R =AH| 2,000 2,000
OITS MAIEE X =& 2,000,000& » 14 2,000




M ox
40 5 4

g E=E

DN S
D NsE WEMA =

bl &t

HA 2=

- _ _ RE]

2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
301 et A= 30,000 30,000
06 212to1 =22 (4 4l 30,000 30,000

OITS MAS3 e12tel b
3,000,000 * h&H x 23| 30,000
AOLEAIEl 2el X olgl A 435,000 435,000
= 435,000
307 212t0| & 435,000 435,000
= 435,000
02 QI AAIE E X 435,000 435,000
OADBIEAIE] OIBIAY 2E Xt 435,000
= 435,000
Z2EAN NsE WDSHA Il 2F ALY 38,000,000 ,000,000
= 29,400,000
& 1,960,000
Al 6,640,000
401 AlEHIZL £ 0HY| 38,000,000 ,000,000
= 29,400,000
& 1,960,000
Al 6,640,000
01 Al&H| 36,465,000 , 465,000
OITS JIetx2=s 36,465,000,000& = 14l 36,465,000
= 28,212,395
o= 1,880,826
Al 6,371,779
02 2teld| 1,500,000 ,500,000
OITS Jlet32 = 1,500,000, 000& = 14! 1,500,000
= 1,160,526
& 77,369
Al 262,105
03 AlI&E 21| 35,000 35,000
OITS Jletx2= 35,000,000& = 14! 35,000
= 27,079
= 1,805
Al 6,116
CANEEBEEHE HEY R4 200,000 200,000
207 I & 200,000 200,000
01 A& 2| 200,000 200,000
OZANESEMEH 2y L SHE 75
200,000,000 = 1Al 200,000
Stattlsl =& 1,297,900 1,297,900
N AHEZUHS =& 1,297,900 1,297,900
NAEEMHE S2F3H| 39,900 39,900
202 o4 | 39,900 39,900




Ol 8 & =01 M SHUS =X
NASSEUHE =&
NAHEZEUHE =& (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
03 =220l 39,900 0 39,900
OglloicHal tHaldl el ¥ & s
5,700,000& = 79H 39,900
MAEEH =& 1,258,000 0 1,258,000
308 A EHHSOIA 500,000 0 500,000
113/ 2SoHUHSBHEAEALS I 500,000 0 500,000
OMNMAE&Hal M= 500,000,000& * 14! 500,000
310 2201 & 758,000 0 758,000
02 ZHFE= 758,000 0 758,000
OMAIEEU 2= 758,000,000& = 14 758,000
Fadsgd = 40,000 0 40,000
SHELAEISHE Hal &l 40,000 0 40,000
tHalse 43 40,000 0 40,000
201 Let24E] 30,000 0 30,000
01 At 22l 30,000 0 30,000
Ogzm 228 BEI NN
2,000&  7,500% 15,000
O8 9 (id) M= 60,000& = 150& 9,000
Os2=E3 M& 2,500 = 2,400& 6,000
401 Al&HI & 28I 10,000 0 10,000
01 A& HI 10,000 0 10,000
OX=g Z18 WEHH 10,000,000& » 14 10,000
HY I ZH (S HHE =T D) 50,888 0 50,888
|23l 50,888 0 50,888
JI23l 50,888 0 50,888
201 L2l 21,888 0 21,888
01 At 22l 21,888 0 21,888
O e8| 11,328
cHFARESHI 200,000& = 12& 2,400
SARII 228 Y 500,000& * 123 6,000
SHER=Z 18,000& * 88 = 12& 1,728
ocAAR S4H| 100,000& * 12& 1,200
O= &l 10,560
col=dR4s Ayl
8,000& = 11 = 10& ~ 123 10,560
202 Odl 22,000 0 22,000
01 = LH YI 22,000 0 22,000
OJl=g:® =& 0ol
100,000& » 11H * 202/ 22,000




A= 0l &HE=H|E 2Ad  2HUS =8
H: M 2HAH (2 HUHE =X )
Ee: I3 (2 &HH)
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ofl At o4 %Eﬁ HR=2
203 R F & 3,000 0 3,000
04 EASHEIRFAH| 3,000 0 3,000
OEMSY g4 250,000 = 123] 3,000
405 XH&HE S 1| 4,000 0 4,000
01 XA 2B F S| 4,000 0 4,000
O8I 2¢ 3,000,000& = 1A 3,000
ONED 2 1,000,000& = 1Al 1,000




